
 

 

 

 

 

 اختار الإجابة الصحيحة : السؤال الأول : 

تبسيط العبارة  
𝑥

𝑥2−1
−

3

2𝑥+2
 يساوي :  

(A 
−𝑥−3

(2𝑥+2)(𝑥−1)(𝑥+1)
           (B  

−𝑥2+2𝑥+3

(2𝑥+2)(𝑥−1)(𝑥+1)
          (C  

−𝑥+3

2(𝑥−1)(𝑥+1)
           (D   

−𝑥−3

2(𝑥−1)(𝑥+1)
 

 ـــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــ ـــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــ ــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــ

 :  LCMأوجدي 

1-  4𝑎2 − 12𝑎 − 16     ,     𝑎3 − 9𝑎2 + 20𝑎 

 

 

 

 

 

2- 16𝑥   ,   8𝑥2𝑦3  ,   5𝑥3𝑦 

 

 

 

 

 

 طرحهاو  النسبية العبارات جمع:  عمل ورقة

 .. التاريخ :............... ..ة :.......................... اليوم :...........ـ/ ـأسم الطالب

 
 

............................................................................................................................. ........................

 ....................................................................... ..............................................................................

............................................................................................................................. ........................

............................. ........................................................................................................................

...................................................................................................................................... . 

............................................................................................................................. ........................

........................................................................................................... ..........................................

............................................................................................................................. ........................

 ................................................................. ....................................................................................

...................................................................................................................................... . 


